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SURFACE AREA AND VOLUME OF A
RIGHT CIRCULAR CYLINDER CONE



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. The diameter of a cone is 14cm and its slant
height is 9cm. Find the area of its curved

surface.

o Watch Video Solution

2. The radius of a cone is 3cm and vertical
height is 4cm. Find the area of the curved

surface.

o Watch Video Solution



https://dl.doubtnut.com/l/_JynV8ACNrj9r
https://dl.doubtnut.com/l/_C14z66bjFPVh
https://dl.doubtnut.com/l/_O3n3CRWjxRor

3. The radius and slant height of a cone are in

the ratio of 4:7. If its curved surface area is

22
792cm2, find its radius. (Useﬂ = 7)

° Watch Video Solution

4. The circumference of the base of a 10m high
conical tent is 44 metres. Calculate the length

of canvas used in making the tent if width of

: 22
canvas is 2m. | Usemr = 3

o Watch Video Solution



https://dl.doubtnut.com/l/_O3n3CRWjxRor
https://dl.doubtnut.com/l/_ytkmn3QkyEbY

5. How many metres of cloth 5m wide will be
required to make a conical tent, the radius of

whose base is 7m and whose height is 24m?

Taker = -
aeﬂ'—T

o Watch Video Solution

6. The lateral surface of a cylinder is equal to
the curved surface of a come. If the radius be
the same, find the ratio of the height of the

cylinder and slant height of the cone.

| s ]


https://dl.doubtnut.com/l/_MUt6xlgFIp9P
https://dl.doubtnut.com/l/_bk2AaW7Qadyy

| ¥ Watch Video Solution ]

7. The radius and height of a cone are in the
ratio 4:3. The area of the base is 154cm?. Find

the area of the curved surface. |

o Watch Video Solution

8. A corn cob (see Fig. 13.17), shaped somewhat
like a cone, has the radius of its broadest end
as 21 cm and length (height) as 20 cm. If each

lem? of the surface of the cob carries an


https://dl.doubtnut.com/l/_bk2AaW7Qadyy
https://dl.doubtnut.com/l/_Cc7HiTJpWkio
https://dl.doubtnut.com/l/_GP4NnPAvoRLg

average of four grains, find how many grains
you would find on the entire cob? given radius
r=2.1em

height h = 20cm

sol = (r2 + hz)%

= 20.1ecm(approx)

SO curved surface area
=7 x 2.1 x 20.1 = 132.66cm”

so total no of grains = 132.66cm? x 4 = 530

grains(approx)

° Watch Video Solution



https://dl.doubtnut.com/l/_GP4NnPAvoRLg
https://dl.doubtnut.com/l/_BBUuX7zDrKYk

9. A tent is of the shape of a right circular
cylinder upt a height of 3 metres and then
becomes a right circular cone with a maximum
height of 13.5 metres above the ground.
Calculate the cost of paintingthe inner side of
the tent at the rate of Rs. 2 per square metre,

if the radius of the base is 14 metres.

O Watch Video Solution

10. Monica has a piece of Canvas whose area is

551m?. She uses it to have conical tent mode,


https://dl.doubtnut.com/l/_BBUuX7zDrKYk
https://dl.doubtnut.com/l/_oWOob3RczobY

with a base radius of 7m. Assuming that all the
stitching margins and wastage incurred while
cutting, amounts to approximately 1m?. Find
the volume of the tent that can be made with

it.

o Watch Video Solution

1. If the radius of the base of a cone is halved,
keeping the height same, what is the ratio of
the volume of the reduced cone to that of the

original.

| e |


https://dl.doubtnut.com/l/_oWOob3RczobY
https://dl.doubtnut.com/l/_aVoeBbs5uR2o

& watch Video Solution I

12. The base radii of two right circular cones of
the same height are in the ratio 5:5. Find the

ratio of their volumes.

° Watch Video Solution

13. A right triangle ABC with its sides 5 cm,
12cm and 13cm is revolved about the side
12cm. Find the volume of the solid so formed.

If the triangle ABC is revolved about side 5cm,


https://dl.doubtnut.com/l/_aVoeBbs5uR2o
https://dl.doubtnut.com/l/_Cm4SfaPj2DYV
https://dl.doubtnut.com/l/_H8QCpfNWeH6r

then find the volume of the solid so obtained.

Find also the ratio of the volumes of the two

solids obtained.

° Watch Video Solution

14. A conical tent is to accommodate 11
persons. Each persons must have 4 sq. metres
of the space on the ground and 20 cubic
metrs of air to breath. Find the height of the

cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_H8QCpfNWeH6r
https://dl.doubtnut.com/l/_B0HHvNwj2EjG

15. A semi-circular sheet of metal of diameter
28cm is bent into an open conical cup. Find

the depth and capacity of cup.

o Watch Video Solution

16. Two cones have their heights in the ratio
1:3 and the radii of their bases in the ratio 3:1.

Find the ratio of their volumes.

o Watch Video Solution



https://dl.doubtnut.com/l/_B0HHvNwj2EjG
https://dl.doubtnut.com/l/_AcJtbSxlqx1t
https://dl.doubtnut.com/l/_LOfrKwGZTMMn

17. A cylinder is within the cube touching all
the vertical faces. A cone is inside the cylinder.
If heights are some with the same base, find

the ratio of their volumes.

o Watch Video Solution

18. A conical tent is 10m high and the radius of
its base is 24m. Find the slant height of the

tent. If the cost of 1m? convas is Rs. 70, find


https://dl.doubtnut.com/l/_6atnLlrugWoJ
https://dl.doubtnut.com/l/_0zCag1SOsv8D

the cost of the canvas required to make the

tent.

° Watch Video Solution

19. Curved surface area of a cone is 308 cm?

and its slant height is 14cm. Find the radius of

the base and total surface area of the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_0zCag1SOsv8D
https://dl.doubtnut.com/l/_VcDrMU2ejcU4

20. There are two cones. The curved surface
area of one is twice that of the other. The slant
height of the later is twice that of the former.

Find the ratio of their radii.

o Watch Video Solution

21. Find the ratio of the surface areas of two
cones if their diameters of the bases are equal

and slant heights are in the ratio of 4:3.

o Watch Video Solution



https://dl.doubtnut.com/l/_kmIMWArvQhrP
https://dl.doubtnut.com/l/_gQfhRO1UsBsx

22. Find the ratio of the surface areas of two
cones if their diameters of the bases are equal

and slant heights are in the ratio of 4:3.

o Watch Video Solution

23. A bus stop is barricaded from the
remaining part of the road, by using 50 hollow
cones made of recycled card-board. Each cone
has a base diameter of 40cm and height Tm. If

the outer side of each of the cones is to be


https://dl.doubtnut.com/l/_gQfhRO1UsBsx
https://dl.doubtnut.com/l/_Kn4MJTmszJju
https://dl.doubtnut.com/l/_SuJ9ExuZ1QL5

painted and the cost of painting is Rs. 12 per
m? , what will be the cost of painting all these

cones (User = 3. 14and+/1. 04 = 1. 02))

° Watch Video Solution

24. A heap of wheat is in the form of a cone
whose diameter is 10.5 m and height is 3 m.
Find its volume. The heap is to be covered by
canvas to protect it from rain. Find the area of

the canvas required

° Watch Video Solution



https://dl.doubtnut.com/l/_SuJ9ExuZ1QL5
https://dl.doubtnut.com/l/_SwVlswa6yQYu

25. A tent is in the form of a right circular
cylinder surmounted by a cone. The diameter
of cylinder is 24m. The height of the cylindrical
portion is 11m while the vertex of the cone is
16m above the ground. Find the area of the

canvas required for the tent.

o Watch Video Solution

26. The area of the base of a right circular

cone is 314cm? and its height is 15cm. Find the


https://dl.doubtnut.com/l/_SwVlswa6yQYu
https://dl.doubtnut.com/l/_wQuqz73ioPMW
https://dl.doubtnut.com/l/_76aPUJtw5W4Q

volume of the cone.

o Watch Video Solution

27. A cylinder and a cone have equal radii of
their bases and equal heights. If their curved
surface areas are in the ratio 8:5, show that
the radius of each is to the height of each as

3:4.

o Watch Video Solution



https://dl.doubtnut.com/l/_76aPUJtw5W4Q
https://dl.doubtnut.com/l/_5DnB6s8mhQIq

28. A cone of height 24cm has a curved surface

area 550cm>. Find its volume.

Tak _22
aeﬂ-—T

o Watch Video Solution

29. A conical tent is to accommodate 11
persons. Each persons must have 4 sq. metres
of the space on the ground and 20 cubic
metrs of air to breath. Find the height of the

cone.

| s |


https://dl.doubtnut.com/l/_FQ6b1hKenpj2
https://dl.doubtnut.com/l/_7nY79utmGnHx

| ¥ Watch Video Solution ]

30. A right circular cone is 3.6 cm high and
radius of its base is 1.6 cm. It is melted and
recast into a right circular cone with radius of

its base as 1.2 cm. Find its height.

o Watch Video Solution

31. A conical vessel whose internal radius is 5
cm and height 24cm is full of water. The water

iIs emptied into a cylindrical vessel with


https://dl.doubtnut.com/l/_7nY79utmGnHx
https://dl.doubtnut.com/l/_elKOYCAF3EaU
https://dl.doubtnut.com/l/_WYOC2nYkOj2g

internal radius 10cms. Find the height to

which the water rises.

° Watch Video Solution

32. The volume of a cone is 18480cm®. If the
height of the cone is 40cm. Find the radius of

its base.

° Watch Video Solution



https://dl.doubtnut.com/l/_WYOC2nYkOj2g
https://dl.doubtnut.com/l/_ORJJo8sVPdCe

33. The base radii of two right circular cones of
the same height are in the ratio 5:5. Find the

ratio of their volumes.

o Watch Video Solution

34. From a right circular cylinder with height
10cm and radius of base 6cm, a right circular
cone of the same height and base is removed.

Find the volume of the remaining solid.

o Watch Video Solution



https://dl.doubtnut.com/l/_KKQLJVPfBVEY
https://dl.doubtnut.com/l/_YZXVBIv4zwKB

35. If h,c, V are respectively the height, the
curved surface and the volume of a cone,

prove that 37VA® — C?h? + 9V? = 0.

o Watch Video Solution

36. A right triangle ABC with its sides 5 cm,
12cm and 13cm is revolved about the side
12cm. Find the volume of the solid so formed.
If the triangle ABC is revolved about side 5cm,

then find the volume of the solid so obtained.


https://dl.doubtnut.com/l/_YZXVBIv4zwKB
https://dl.doubtnut.com/l/_490KEHNDVwpP
https://dl.doubtnut.com/l/_ofFudN5AQr9M

Find also the ratio of the volumes of the two

solids obtained.

° Watch Video Solution

37. A cone of a radius 5 cm is filled with water.
If the water poured in a cylinder of radius
10cm, the height of the water rises 2 cm, find

the height of the cone.

o Watch Video Solution



https://dl.doubtnut.com/l/_ofFudN5AQr9M
https://dl.doubtnut.com/l/_5KxlmqFiP1CJ

38. The diameter of a cone is 14cm and its
slant height is 9cm. Find the area of its curved

surface.

o Watch Video Solution

39. Find the total surface area of a cone, if its
slant height is 9m and the radius of its base is

12m.

o Watch Video Solution



https://dl.doubtnut.com/l/_4l0fvw15eCPm
https://dl.doubtnut.com/l/_ijGJyghL7weV
https://dl.doubtnut.com/l/_zbr3fn2UeKDg

40. The radius of a cone is 3cm and vertical
height is 4cm. Find the area of the curved

surface.

o Watch Video Solution

41. The radius and slant height of a cone are in

the ratio of 4:7. If its curved surface area is

22
792 cm2, find the radius. (Use T = 7)

° Watch Video Solution



https://dl.doubtnut.com/l/_zbr3fn2UeKDg
https://dl.doubtnut.com/l/_AjA56kdPl2wr
https://dl.doubtnut.com/l/_itZf4LUfuxBm

42. The circumference of the base of a 10m
high conical tent is 44 metres. Calculate the

length of canvas used in making the tent if

22
width of canvas is 2m. (Usew = 7)

o Watch Video Solution

43. How many metres of cloth 5m wide will be
required to make a conical tent, the radius of

whose base is 7m and whose height is 24m?

22
(Takeﬂ = —)
7

o Watch Video Solution



https://dl.doubtnut.com/l/_itZf4LUfuxBm
https://dl.doubtnut.com/l/_FyPtzawFAPa7

44.The lateral surface of a cylinder is equal to
the curved surface of a come. If the radius be
the same, find the ratio of the height of the

cylinder and slant height of the cone.

o Watch Video Solution

45. The radius and height of a cone are in the
ratio 4:3. The area of the base is 154cm?. Find

the area of the curved surface.

| s |


https://dl.doubtnut.com/l/_FyPtzawFAPa7
https://dl.doubtnut.com/l/_bDHOHBl4DCMZ
https://dl.doubtnut.com/l/_noYMTfQN9hP5

| ¥ Watch Video Solution ]

46. A corn cob (see in figure), shaped
somewhat like a cone, has the radius of its
broadest end as 2.1 cm and length as 20cm. If
each 1 ¢m? of the surface of the cob carries an
average of four grains, find how many grains

you would find on the entire cob?

o Watch Video Solution



https://dl.doubtnut.com/l/_noYMTfQN9hP5
https://dl.doubtnut.com/l/_CjN2kHQrh4Ib

47. A tent is of the shape of a right circular
cylinder upt a height of 3 metres and then
becomes a right circular cone with a maximum
height of 13.5 metres above the ground.
Calculate the cost of paintingthe inner side of
the tent at the rate of Rs. 2 per square metre,

if the radius of the base is 14 metres.

o Watch Video Solution



https://dl.doubtnut.com/l/_YG1AgD5dcvrP

48. Find the curved surface area of a cone, if
its slant height is 60cm and the radius of its

base is 21cm.

o Watch Video Solution

49, The radius of a cone is 5cm and vertical
height is 12cm. Find the area of the curved

surface.

o Watch Video Solution



https://dl.doubtnut.com/l/_VzlmOLotzHAf
https://dl.doubtnut.com/l/_YcEZCGLYeZ3D
https://dl.doubtnut.com/l/_JFl3r5s6kMEK

50. The radius of a cone 7cm and area of
curved surface is 176 cm?® . Find the slant

height.

o Watch Video Solution

51. The height of a cone is 21cm. Find the area

of the base if the slant height is 28cm.

° Watch Video Solution



https://dl.doubtnut.com/l/_JFl3r5s6kMEK
https://dl.doubtnut.com/l/_63WiWsSb0xP0

52. Find the total surface area of a right

circular cone with radius 6cm and height 8cm.

° Watch Video Solution

53. Find the curved surface area of a cone with

base radius 5.25cm and slant height 10cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_LDjVFt1OZ0ns
https://dl.doubtnut.com/l/_xmkzD4XeI1aG

54. Find the total surface area of a cone, if its
slant height is 21 m and diameter of its base is

24 m.

o Watch Video Solution

55.The area of the curved surface of a cone is
607 cm?. If the slant height of the cone be

8cm, find the radius of the base.

o Watch Video Solution



https://dl.doubtnut.com/l/_LDvmN7WDlT6T
https://dl.doubtnut.com/l/_2uEYcWZHgkHx
https://dl.doubtnut.com/l/_2MDZUU1dv48n

56. The radius and slant height of a cone are in

the ratio of 4:7. If its curved surface area is

22
792cm2, find its radius. (USGT(' = 7)

° Watch Video Solution

57. A joker’s cap is in the form of a right
circular cone of base radius 7 cm and height
24 cm. Find the area of the sheet required to

make 10 such caps.

o Watch Video Solution



https://dl.doubtnut.com/l/_2MDZUU1dv48n
https://dl.doubtnut.com/l/_U371Dn1iqnCH

58. Find the ratio of the surface areas of two
cones if their diameters of the bases are equal

and slant heights are in the ratio of 4:3.

o Watch Video Solution

59. There are two cones. The curved surface
area of one is twice that of the other. The slant
height of the later is twice that of the former.

Find the ratio of their radii.

o Watch Video Solution



https://dl.doubtnut.com/l/_2PfjKKwmu7O2
https://dl.doubtnut.com/l/_w5CwZEJLhJkm

60. The diameters of two cones are equal. If
their slant heights are in the ratio 5:4, find the

ratio of theri curved surfaces.

° Watch Video Solution

61. Curved surface area of a cone is 308 cm?

and its slant height is 14cm. Find the radius of

the base and total surface area of the cone.

° Watch Video Solution



https://dl.doubtnut.com/l/_w5CwZEJLhJkm
https://dl.doubtnut.com/l/_HhrvxT04xnMY
https://dl.doubtnut.com/l/_zLb2V2e8NUej

62. The slant height and base diameter of a
conical tomb are 25m and 14m respectively.
Find the cost of white-washing its curved

surface at the rate of Rs. 210 per 100 m?

o Watch Video Solution

63. A conical tent is 10m high and the radius of
its base is 24m. Find the slant height of the

tent. If the cost of 1m? convas is Rs. 70, find


https://dl.doubtnut.com/l/_IQc4tkzYUhA1
https://dl.doubtnut.com/l/_Q1b539X0WPoe

the cost of the canvas required to make the

tent.

° Watch Video Solution

64. A tent is in the form of a right circular
cylinder surmounted by a cone. The diameter
of cylinder is 24m. The height of the cylindrical
portion is 11m while the vertex of the cone is
16m above the ground. Find the area of the

canvas required for the tent.

° Watch Video Solution



https://dl.doubtnut.com/l/_Q1b539X0WPoe
https://dl.doubtnut.com/l/_XlEFIimmjxpH

65. A circus tent is cylindrical to a height of 3
metres and conical above it. If its diameter is
105m and the slant height of the conical
portion is 53m, calculate the length of the

canvas 5m wide to make the required tent.

o Watch Video Solution

66. The circumference of the base of a 10m

high conical tent is 44 metres. Calculate the


https://dl.doubtnut.com/l/_XlEFIimmjxpH
https://dl.doubtnut.com/l/_ADojOMeZ30SE
https://dl.doubtnut.com/l/_S1jxF7L93CxV

length of canvas used in making the tent if

22
width of canvas is 2m. (Usew = 7)

o Watch Video Solution

67. What length of tarpaulin 3m wide will be
required to make a conical tent of height 8m
and base radius 6m? Assume that the extra
length of material will be required for
stitching margins and wastage in cutting is

approximately 20 cm (Use w = 3. 14)

o Watch Video Solution



https://dl.doubtnut.com/l/_S1jxF7L93CxV
https://dl.doubtnut.com/l/_AYuI8SftFKM0

68. A bus stop is barricaded from the
remaining part of the road, by using 50 hollow
cones made of recycled card-board. Each cone
has a base diameter of 40cm and height Tm. If
the outer side of each of the cones is to be
painted and the cost of painting is Rs. 12 per

m? , what will be the cost of painting all these

cones (Usew = 3. 14dand+/1. 04 = 1. 02))

o Watch Video Solution



https://dl.doubtnut.com/l/_AYuI8SftFKM0
https://dl.doubtnut.com/l/_0Ys5WlBKb42x

69. A cylinder and a cone have equal radii of
their bases and equal heights. If their curved
surface areas are in the ratio 8:5, show that
the radius of each is to the height of each as

3:4.

o Watch Video Solution

70. Find the volume of a right circular cone

1.02m high, if the radius of its base is 28m.

° Watch Video Solution



https://dl.doubtnut.com/l/_XGqQ2DjQptSA
https://dl.doubtnut.com/l/_6YwqQv44Cuhj

71. The area of the base of a right circular cone
is 314cm? and its height is 15cm. Find the

volume of the cone.

° Watch Video Solution

72.The diameter of a right circular cone is 8cm

and its volume is 48 7 cm®. What is its height?

o Watch Video Solution



https://dl.doubtnut.com/l/_6YwqQv44Cuhj
https://dl.doubtnut.com/l/_ylbrwSIfzVaw
https://dl.doubtnut.com/l/_iENDSVJ7d8Vv
https://dl.doubtnut.com/l/_A4WC7HNYrS8r

73. The volume of a cone is 18480cm?®. If the
height of the cone is 40cm. Find the radius of

its base.

o Watch Video Solution

74. The base radii of two right circular cones
of the same height are in the ratio 3:5. Find

the ratio of their volumes.

o Watch Video Solution



https://dl.doubtnut.com/l/_A4WC7HNYrS8r
https://dl.doubtnut.com/l/_Xv73ytg7NySd

75. A right circular cone is 3.6 cm high and
radius of its base is 1.6 cm. It is melted and
recast into a right circular cone with radius of

its base as 1.2 cm. Find its height.

o Watch Video Solution

76. A conical vessel whose internal radius is 5
cm and height 24cm is full of water. The water

is emptied into a cylindrical vessel with


https://dl.doubtnut.com/l/_dHXIggZPxUCm
https://dl.doubtnut.com/l/_9AfENriDyDP2

internal radius 10cms. Find the height to

which the water rises.

o Watch Video Solution

77. A right triangle ABC' with its dies 5cm,
12cm and 13cm is revolved about the side
12cm. Find the volume of the solid so formed.
If the triangle ABC' is revolved about side
5cm, then find the volume of the solid so
obtained. Find also the ratio of the volumes of

the two solids obtained.

| |


https://dl.doubtnut.com/l/_9AfENriDyDP2
https://dl.doubtnut.com/l/_ozCqvSw3ZB1l

& Wwatch Video Solution I

78. A cone and a cylinder are having the same
base. Find the ratio of their heights if their

volumes are equal.

O Watch Video Solution

79. A cone of a radius 5cm is filled with water. If
the water poured in a cylinder of radius 10cm,
the height of the water rises 2cm, find the

height of the cone.


https://dl.doubtnut.com/l/_ozCqvSw3ZB1l
https://dl.doubtnut.com/l/_dTGendt0LkmC
https://dl.doubtnut.com/l/_z3FA5fdV1HIN

° Watch Video Solution

80. A solid cube of side 7cm is melted to make
a cone of height 5cm, find the radius of the

base of the cone.

° Watch Video Solution

81. From a right circular cylinder with height

10cm and radius of base 6cm, a right circular


https://dl.doubtnut.com/l/_z3FA5fdV1HIN
https://dl.doubtnut.com/l/_rWndyRszd0ex
https://dl.doubtnut.com/l/_mV3u553aya39

cone of the same height and base is removed.

Find the volume of the remaining solid.

° Watch Video Solution

82. The radius and height of a cone are in the
ratio 3:4. If its volume is 301. 44 cm®, what is
its radius? What is its slant height?

(Take m = 3. 14)

o Watch Video Solution



https://dl.doubtnut.com/l/_mV3u553aya39
https://dl.doubtnut.com/l/_TOzXSr2jwvGE

8. If h,c, V are respectively the height, the
curved surface and the volume of a cone,

prove that 37Vh® — C?h? + 9V? = 0.

o Watch Video Solution

84. A cone of height 24cm has a curved surface

area 550 cm?. Find its volume.

oo — 22
8671'—7

° Watch Video Solution



https://dl.doubtnut.com/l/_JUYwh5cBOK5y
https://dl.doubtnut.com/l/_JmjezWyZxndx
https://dl.doubtnut.com/l/_ouKspXnunHKI

85. A conical tent is to accommodate 11
persons. Each persons must have 4 sq. metres
of the space on the ground and 20 cubic
metres of air to breath. Find the height of the

cone.

° Watch Video Solution

86. A semi-circular sheet of metal of diameter
28cm is bent into an open conical cup. Find

the depth and capacity of cup.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_ouKspXnunHKI
https://dl.doubtnut.com/l/_fdeAOlwqfPKA

87. A conical tent is 9m high and the radius of
its base is 12m. (i) What is the cost of the
canvas required to make it, if a square metre
canvas costs Rs. 107 (ii) How many persons can
be accommodated in the tent, if each person
requires 2 square metre on the ground and 15
m”3 of space to breath in? (i) Given,

Height of tent = 9m

Base radius = 12m

2 2

Cost per m” = 10perm

Now,


https://dl.doubtnut.com/l/_fdeAOlwqfPKA
https://dl.doubtnut.com/l/_obYwDKBZNjx7

Slant  height = 1/(9)? + (12)’=sqrt[81+144]
=15Now, Curvedsur facearea=pirl=
(22/7)xx12xx15=3960/7=565.7

Now, Total cost = 565.7xx10=¥5657

(ii)areaofground= pir*2=452.16
arearequiredbyeachpersonis2 m”2
so max tumn ® ofperson= 45216/2=226

personsvolumeo fconicaltent=(1/3)pir"2h=
(1/3)pi(12)"2(9)=1356.48 m”3
volumerequiredbyeachperson=15 m”3

max tumnoo fperson=1356.48/15=90" persons

o Watch Video Solution



https://dl.doubtnut.com/l/_obYwDKBZNjx7

88. Find the volume of the larges right circular
cone that can be cut out of a cube whose edge

iIs 9cm.

o Watch Video Solution

89. A cylinder is within the cube touching all
the vertical faces. A cone is inside the cylinder.
If their heights are same with the same base,

find the ratio of their volumes.

° Watch Video Solution



https://dl.doubtnut.com/l/_DWAInvPaYCPq
https://dl.doubtnut.com/l/_3LmRMTse6DE2

90. Find the volume of a right circular cone
with: (i) radius 6cm, height 7cm. (ii) radius 3.5
cm, height 12cm (iii) height 21cm and slant

height 28cm.

o Watch Video Solution

91. Find the capacity in litres of a conical vessel
with (i) radius 7 cm, slant height 25 cm (ii)

height 12 cm, slant height 13 cm

o Watch Video Solution



https://dl.doubtnut.com/l/_3LmRMTse6DE2
https://dl.doubtnut.com/l/_ljnW2K422xN9
https://dl.doubtnut.com/l/_CmcT6ZzNmsRJ

92. Two cones have their heights in the ratio
1:3 and the radii of their bases in the ratio 3:1.

Find the ratio of their volumes.

o Watch Video Solution

93. The radius and the height of a right
circular cone are in the ratio 5:12. If its volume

is 314 cubic metre, find the slant height and

the radius (Use m = 3. 14)

| = 1


https://dl.doubtnut.com/l/_CmcT6ZzNmsRJ
https://dl.doubtnut.com/l/_P7runoCHkqaH
https://dl.doubtnut.com/l/_0SLzsnzGpBik

I &9 Watch Video Solution I

94. The ratio of volumes of two cones is 4:5
and the ratio of the radii of their bases is 2:3.

Find the ratio of their vertical heights.

° Watch Video Solution

95. A cylinder and a cone have equal radii of
their bases and equal heights. Show that their

volumes are in the ratio 3:1.

l o Watch Video Solution


https://dl.doubtnut.com/l/_0SLzsnzGpBik
https://dl.doubtnut.com/l/_71nKa4nrBLUD
https://dl.doubtnut.com/l/_wBVS9NT9RKLz

96. If the radius of the base of a cone is halved,
keeping the height same, what is the ratio of
the volume of the reduced cone to that of the

original.

o Watch Video Solution

97. A heap of wheat is in the form of a cone of

diameter 9m and height 3.5m. Find its volume.


https://dl.doubtnut.com/l/_wBVS9NT9RKLz
https://dl.doubtnut.com/l/_nvaekWL3pkYc
https://dl.doubtnut.com/l/_v9Ay6LXzhHHL

How much canvas cloth is required to just

cover the heap? (Use m = 3. 14)

o Watch Video Solution

98. Find the weight of a solid cone whose base
is of diameter 14cm and vertical height 51cm,
supposing the material of which it is made

weighs 10 grams per cubic cm.

o Watch Video Solution



https://dl.doubtnut.com/l/_v9Ay6LXzhHHL
https://dl.doubtnut.com/l/_03AZUETOP2Vz

99. A right angled triangle of which the sides
containing the right angle are 6.3 cm and
10cm in length, is made to turn round on the
longer side. Find the volume of the solid, thus

generated. Also, find its curved surface area.

o Watch Video Solution

100. Find the volume of the largest right
circular cone that can be fitted in a cube

whose edge is 14cm.

| & I


https://dl.doubtnut.com/l/_Hj3X8XYwEdY2
https://dl.doubtnut.com/l/_W6so69vFYLGu

| ¥ Watch Video Solution |

101. The volume of a right circular cone is 9856
em? . If the diameter of the base is 28cm, find:
(i) height of the cone (ii) slant height of the

cone (iii) curved surface area of the cone.

° Watch Video Solution

102. A conical pit of top diameter 3.5m is 12m

deep. What is its capacity in kilolitres?

o Watch Video Solution



https://dl.doubtnut.com/l/_W6so69vFYLGu
https://dl.doubtnut.com/l/_Hwjee6yAI4iE
https://dl.doubtnut.com/l/_HNVlBIpYv5t7

103. Monica has a piece of Canvas whose area
is 551m?. She uses it to have conical tent
mode, with a base radius of 7m. Assuming that
all the stitching margins and wastage incurred
while cutting, amounts to approximately 1m?.
Find the volume of the tent that can be made

with it.

o Watch Video Solution



https://dl.doubtnut.com/l/_HNVlBIpYv5t7
https://dl.doubtnut.com/l/_VBTmnaJxjuRJ

104. The height of a cone is 15cm. If its volume

is 5007 ¢m? |, then find the radius of its base.

° Watch Video Solution

105. If the volume of a right circular cone of
height 9 cm is 48wcm® |, find the diameter of

its base.

° Watch Video Solution



https://dl.doubtnut.com/l/_nIOVUAA051kL
https://dl.doubtnut.com/l/_aH7BLtYyecqc

106. If the height and slant height of a cone
are 2lcm and 28cm respectively. Find its

volume.

o Watch Video Solution

107. The height of a conical vessel is 3.5cm. If
its capacity is 3.3 litres of milk. Find the

diameter of its base.

o Watch Video Solution



https://dl.doubtnut.com/l/_k8mtJCAQKB2n
https://dl.doubtnut.com/l/_52AOo0gCYGMq
https://dl.doubtnut.com/l/_LtXZMlg5IbEz

108. The radius and slant height of a cone are

in the ratio of 4:7. If its curved surface area is

22
792 cm2, find the radius. (Use T = 7)

° Watch Video Solution

109. Find the area of canvas required for a

conical tent of height 24m and base radius 7m.

o Watch Video Solution



https://dl.doubtnut.com/l/_LtXZMlg5IbEz
https://dl.doubtnut.com/l/_IObkbFIJW85D

110. Find the area of metal sheet required in
making a closed hollow cone of base radius

7cm and height 24cm.

o Watch Video Solution

111. Find the length of cloth used in making a
conical pandal of height 100m and base radius

240m, if the cloth is 1007 m wide.

o Watch Video Solution



https://dl.doubtnut.com/l/_MDYFtiNcccOb
https://dl.doubtnut.com/l/_K1uldlT2DOYM
https://dl.doubtnut.com/l/_rL0kSCgnBggV

112. The number of surfaces of a cone has, is

@1 ()2 (93 ()4

° Watch Video Solution

113. The area of the curved surface of a cone of

radius 2r and slant height é is a) mrl b)27rl c)
1

§7r'rl d)m(r + Dr

° Watch Video Solution



https://dl.doubtnut.com/l/_rL0kSCgnBggV
https://dl.doubtnut.com/l/_F45oTb7Os6BH

114. The total surface area of a cone of radius

g and length 2I, is a)27r(l + r)b)
r
r (l + Z) corr(l 4+ r) d)2mrl

o Watch Video Solution

115. A solid cylinder is melted and cast into a
cone of same radius. The heights of the cone
and cylinder are in the ratio (a) 9:1 (b)

1:9 (c) 3:1 (d) 1:3

° Watch Video Solution



https://dl.doubtnut.com/l/_Y42hQyerfxGP
https://dl.doubtnut.com/l/_3Pdi5GVivOCA

116. The slant height of a cone is increased by
10%. If the radius remains the same, the

curved surface area is increased by (a) 10%

(b) 121% (c) 20% (d) 21%

o Watch Video Solution

117. The height of a solid cone is 12cm and the
area of the circular base is 64wcm®A plane
parallel to the base of the cone cuts through

the cone 9cm above the vertex of the cone ,the


https://dl.doubtnut.com/l/_3Pdi5GVivOCA
https://dl.doubtnut.com/l/_s3g8bpTIpHeb
https://dl.doubtnut.com/l/_CBOxc1DAF2Uv

area of the base of the new cone so formed is

a)9mrem? b)16mem? ¢)25mem? d)36mwem?

° Watch Video Solution

118. If the radius of the base of a right circular

cone is 37 and its height is equal to the radius

1
of the base, then its volume is (a) §7r7“3 (b)
2

5’71'7“3 (c)37rr3 (d)97rr3

o Watch Video Solution



https://dl.doubtnut.com/l/_CBOxc1DAF2Uv
https://dl.doubtnut.com/l/_lKOganSz9WET

119. If the volumes of two cones are in the
ratio 1:4 and their diameters are in the ratio
4.5, then the ratio of their heights, is (a)

1:5 (b) 5:4 (c) 5:16 (d) 25:64

o Watch Video Solution

120. The curved surface area of one cone is
twice that of the other while the slant height

of the latter is twice that of the former. The


https://dl.doubtnut.com/l/_twc9MgB61Pxa
https://dl.doubtnut.com/l/_dmv58XRbftF9

ratio of their radii is (a) 2:1 (b) 4:1 (c)

8:1 (d) 1:1

° Watch Video Solution

121. If the height and radius of a cone of
volume V are doubled, then the volume of the

cone,is(a)3V(b)4V(c)eV(d) 8V

° Watch Video Solution



https://dl.doubtnut.com/l/_dmv58XRbftF9
https://dl.doubtnut.com/l/_qZMEnjcSACLo

122. The ratio of the volume of a right circular
cylinder and a right circular cone of the same
base and height, is (a) 1:3 (b) 3:1

(c) 4:3 (d) 3:4

o Watch Video Solution

123. A right circular cylinder and a right
circular cone have the same radius and the

same volume. The ratio of the height of the


https://dl.doubtnut.com/l/_Oef9eJu6MQSE
https://dl.doubtnut.com/l/_dSrRFdlCiyvJ

cylinder to that of the cone is (a) 3:5 (b)

2:5 (c) 3:1 (d) 1:3

° Watch Video Solution

124. If the base radius and the height of a right
circular cone are increased by 20%, then the
percentage  increase in  volume s
approximately.(a) 60 (b) 68 (c) 73

(d) 78

° Watch Video Solution



https://dl.doubtnut.com/l/_dSrRFdlCiyvJ
https://dl.doubtnut.com/l/_4Ebv98hTtngQ
https://dl.doubtnut.com/l/_z5TDX3HFA80a

125. The diameters of two cones are equal. If
their slant heights are in the ratio 5:4, find the

ratio of theri curved surfaces.

° Watch Video Solution

126. If h, SandV denote respectively the
height, curved surface area and volume of a
right circular cone, then
3rVh®> — S?h? 4+ 9V ? is equal to (a) 8 (b)0(c)

47r(d) 3272

l ° Watch Video Solution


https://dl.doubtnut.com/l/_z5TDX3HFA80a
https://dl.doubtnut.com/l/_HoS1e0QYgXxZ

127. If a cone is cut into two parts by a
horizontal plane passing through the mid-
point of its axis, the ratio of the volumes f
upper and lower partis (a) 1.2 (b) 2:1 (c)

1.7 (d) 1:8

° Watch Video Solution

128. If the heights of two cones are in the ratio

of 1:4 and the radii of their bases are in the


https://dl.doubtnut.com/l/_HoS1e0QYgXxZ
https://dl.doubtnut.com/l/_bzkWg9CFxF61
https://dl.doubtnut.com/l/_0hEQ8LeezQkf

ratio 4:1, then the ratio of their volumes is (a)

1:2 (b) 2:3 (c) 3:4 (d) 4:1

° Watch Video Solution



https://dl.doubtnut.com/l/_0hEQ8LeezQkf

